2013-06-04 7407 Front Exploded View (Rally) | traxas.com

Right-click on this image and "Save Image as..." to download this exploded view for future printing.

‘F 2746 j
3605 MW |
Front Assembly ‘ |
3647 3036
NL M4x0.7 Flanged ggg;x opt. I 4x10 BCS :
1747R opt. / — a642% : 3642X
x20ss - ‘ 3x12 0SS
6822 !
1654 _
1654x opt/ - 6832X opt.

1985
5x8x0.5 TW

5119
10x15x4 BB
2579

/ ~
3642X

3x12 CSS

2579
3x15 BCS

@
26 Sxiixd BB\ > dude
X111 > NL M4x0.7 Flanged
79
Baasx g 00 MW 315 BCS ey 1747R opt.
N T 5114 8 —_— /1654 ”
T A @ 1654X opt.
Do Y 36x.05 MW K 6837X opt. ‘ R >
S 5114 3x12 CCS
SHEEE | 1985

3967

‘ 310 css 645X i 5x8x0.5 TW
6845X )
e 5625 1 6845
6845X A 2579
, 4 3x15 BCS ‘ /
4x12.CCS 5114 g -
3x15 CCS 5x8 BB / Install with rim facing upward.

“ 2553 &

3x15 CCS — 5114

5x8 BB

REV 130215-R01

Specifications on this page are subject to change without notice. Every = A <
4 8% See Parts List for a complete e e e g et ISP

traxxas.com/explodedviews/7407-F ront- Exploded-View-Rally 12



2013-06-04 7407 Rear Exploded View (Rally) | traxxas.com

Right-click on this image and "Save Image as..." to download this exploded view for future printing.

Shock Assembly

Rear Assembly

2577
3x10BCS

1985
3647 1952

NL M4x0.7 Flanged 205 TW 185y

1747R opt. 2579

3x15BCS

Use #1666 silicone
shock oil

1985
5x8x0.5 TW

47
~ NL M4x0.7 Flanged
-7 1747R opt.
5116 .
5x11x4 BB
3«12 CCS 7 iy & A%
X
™\ 2551 REV 130215-R01
Aﬁ%gfﬂ 2win rrQ See Parts List for 2 complete Specifications on this page are subject to change without notice. Every attempt has been made to ensure

traxxas.com/explodedviews/7407-Rear-Exploded- View-Rally 12



7407 Chassis Exploded View (Rally) | traxxas.com

2013-06-04

to download this exploded view for future printing.

Right-click on this image and "Save Image as..."

Servo Horn Position

7426X opt.

©
N
=~
~

Assembly

IS

Chass

7424

ry attempt has been made to ensure

ct to change without notic

are subje

on this page

Specifications

a complete

See Parts List for

12

traxxas.com/explodedviews/7407-Chassis-Exploded- View-Rally



2013-06-04 7407 DriveShaft Exploded View (Rally) | traxas.com

Right-click on this image and "Save Image as..." to download this exploded view for future printing.

szl

Driveshafts

Rear Driveshaft Assembly

Available fully assembled as part #6852X

6852R opt.

=

6850X

Front Driveshaft Assembly
Available fully bled as part #6851X
6851R opt.

3936
4X10 BCS

Moduliar Assembly \z?

4X12 BCS

3x15 BCS

traxxas.com/explodedviews/7407-DriveShaft-Exploded-View-Rally

REV 130215-R01
Specifications on this page are subject to change without notice.
Every attempt has been made to ensure the accuracy of this drawing, however Traxxas cannot

12



2013-06-04 7407 Transmission Exploded View (Rally) | traxxas.com

Right-click on this image and "Save Image as..." to download this exploded view for future printing.

TIRPIAS oapd oot
, 2575

V4 3x6 BCS

~ Flatside
against gear

2524
CCS 2.5x8

Transmission Assembly e O
BCS 3x6 ol 6884©/ " aqainst gear
6843R-52T
Optional Center Diff
s e
=
M 36 CCS e
yef gl
X A o b e -
3108 527 N
\ .
1 / -
L o ra
3932 S
3x6 FCS A ol
/

J 5556
5351 opt.

5352X opt.

§ 55
6893 §| 5351 opt.
= 6893X opt. g
Yo 5116
e o 5x11x4 BB
@/ o 3956 54T

5552X # 6842 50T opt.
% 6843 52T opt.

2554
3x6 CS

7;4»@ A\

REV 130215-R01

IS.E‘E' Partf US‘t' for a C°mP|Et'E Specifications on this page are subject to change without notice. Every attempt has been made to ensure

traxxas.com/explodedviews/7407- Transmission-Exploded-View-Rally 12



